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TNPSC GROUP I MAIN - 2021

MANDATORY TEST XX
CURRENT AFFAIRS 1 & APTITUDE AND MENTAL ABILITY (PERCENTAGE,
PROBABILITY, STATISTICS)
Time: 3 hours Total marks: 250
SECTION A 10 x 10 =100

Answer all the questions. Answer not exceeding 150 words each

1.

List out the major principles in Indian Foreign Policy
ObHw Oeuellupeyd Gamemsule (PoHBHlW OETeTmesmen UL IQuIed(he

Write a note on Garib Kalyan Rozgar Yojana
&l seowner CrmmsT b uBs GBlily aumys

Write a note on Tamil Nadu Cyber Security Policy 2020
SODHTH Gemewiul LTHISTIL GameTend 2020 uBpl @GP euemIs

What are the objectives and applications of Tamil Nadu Block Chain Policy 20207?
SOpHTH Uenmds QFuller GameTensd 2020-Ber ChToHemIS6T LOBBID LWIEUTGS6T Wmeneu?

Write a note on Tamil Nadu Safe and Ethical Artificial Intelligence Policy 2020
SOIPHTH  LTSISTILTET  oBEpID  Opsl(wens QFwBamse Hiewemsleyd Gamatems 2020 uBpsl GBIy

QUMD

Narrate the importance of Chauri Chaura Incident
Cgemfl QFengm Mspaler (PHeWSHID UBB 61(LDSHIS

Write a note on the Environmental Impact Assessment Draft 2020
FBBIFGH0 HTHS WLHUT B euemgey 2020 ump GMILLY euemIH

Write a shot note on the following
LeireumeueieuBBiBGg GBIl euedTsH

a. Vinobha Bhave
alGaurmum  LTGeu

b. Quid-E-Millath
&TUIG% Lilevevs
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10.

11.

12.

13.

14.

15.

16.

Answer the following questions
aiTeumd aeTohEehdbE alenL U6l

a. If50% (x - y) =30% of (x +y) then what percentage of x is y?

50% (x -y) =30% (x +y) eradfled x-60 y-6leiiLig el6ilouene] FHaigHb?

b. What will be the probability non-leap year will have 53 Saturdays?
QUH FTHTTET QUHLSHH60 53 FlbIHIDMIDH6T I HHLDHH6) 6165160 ?

The measurements of the diameters (in cms) of the plates prepared in a factory are given

below. Find its standard deviation.

Diameter (cm) 21-24 25-28 29-32 33-36 37-40 | 41-44
Number of plates 15 18 20 16 8 7
@wm OCamybstemeoulsd  swmflssiul L FHLselar el  Seneyser  (QF.5-60) &6
CaThoHaLILL (heTenel. BHeT HLL alevbHD ST,
Qi L misel (GlF.L5) 21-24 25-28 29-32 33-36 37-40 | 41-44
B Boerlel eTententlemeas 15 18 20 16 8 7
SECTION - B 10 x 15 =150

Answer all the questions. Answer not exceeding 250 words each

What is the main aim and objective of New Educational Policy? To what extent the New

Education Policy intent to provide quality education to its children and the youth.

ydHw sevald OCameiensuler wsaw @GBleCameiset opmid  CrErdsmisst  wmemeu? LW
B0 HCBTETNS 61hH DMAIBEGS GHLHMBHEHHGSGD BMeTEhTHEHHGHD HILOTET HevaleNU! 6ULHIS
el sBgH?

What is Digital education system? How have digital initiatives in India contributed to the

functioning of the education system in the country. Discuss
GTewID Heval (ewB eleTlZl WIngl? @pbHwmaled elewild (WeTOeIBULS6T BT 196 Heval (Lpenmullest
GaweoLm19BE eleleuTml LmiselSeHen eaiLg UBns aleurs

Analyse the need of a National Recruitment agency in India. What are its advantages and
what are its challenges?

@phgswmaled GCxhdw uemiwmenT (paemwuler CHemeull UM LUIH. DIHGT  [HETEMLOHET  LOBMID
FEUTELEHGT  WITEn6U?

Discuss the challenges and advantage of 5G technology. How does 5G benefit the
Government?

5G GamPevpIl LUSHHeT  FouTevseT BBID BHerewoset UBK  eleurd). 5G QFHTHEOHIL LIOTESI
STHHG eTeleuty Liwleellbapgl.

Discuss the role of RBI in Post COVID Recovery
Camall (hé@ etemmen B OLBUIed @bHw faren eumigluler umig uBp alleursdseab

Who is called as “Prince Among Patriots”? Elaborate his various contributions to Indian
Freedom Movement.

“Crausbsioaier @emaurger el SMWPSSILBGUT wiT? GhHu  albhHmew BuisbsSHIBES
ST Bl LeLBaum umIsailyseT uBp allend@s
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17.

18.

19.

20.

91 Pang

Write a detailed note on Tamil Nadu Industrial Policy 2021
SOHETH CHTOBOSTeTmaE 2021 alfleuts e11pHIS

Discuss the causes, features and significance of Non-Cooperation Movement
RSHSHIDPWTMD QUISSSHIHMHTET  HTJEOIRISET  DIHeT FBUULDFRIGSET OBBID  (PSHSWSHSHIeUD
©USE eland

Answer the following questions
LeiTeu(HlD e eTehBEhdbE alenL U6l

a. Mr. Arun gave 40% of the money he had, to his wife. He also gave 20% of the remaining

amount to each of his three sons. Half of the amount now left was spent on
miscellaneous items and the remaining amount of X 12,000 was deposited in the bank.
How much money did Mr. Arun have initially?
SDIHEWT 6ISTLeN] Hettall b 2 6o QFHTensuied 40%-23 SHeiiaienl Wi eneraiui b &erfldammy.
BHP6ITEN  OHTNHMUI  SHETEIGNL Ul CPESID  LDH6ETH6T  @elOaumhaubi@Gld  20%e3  fldg
Car@aadlemry. Ue WaweTtemeumpled UTHMW @&HT 60Fe06 HEHSHITHL  LIWGTLGSHSHISBT].
Guoaub semLduiled SeugdH wasuledmbd CgTenswmer . 12000-83 eaumsluied CFaISHSHIS BT
a6y, OBHTLHBHH0 SUfILLO(HbHSH CHTenE 6T6iI6u61T6Y?

b. The probability that a student will pass the final examination in both English and Tamil
is 0.5 and the probability of passing neither is 0.1. If the probability of passing the
English examination is 0.75, what is the probability of passing the Tamil examination?
Q@ e @mISHs Cahyalsd ymidslevn BBID SHWIHe0 BCHTFF OLUBIISBEHTET HBHDHH
0.5, @amab Csi&Fd eLWTLed SHUuUsBsTal HahsHse 0.1 msnd Capjaled CoisFd
SIMLUSHBETE  HSDHBe| 0.75 eeie0, HOWD BCxjaled CxHIFd OGUBIISBETE HHDHHE]
6TGHT60T ?

Answer the following questions
eTeu(pld aeTToheEheHE alenL U6l

a. A cricket club has 16 members, of whom only 5 can bowl. What is the probability that
in a team of 11 members at least 3 bowlers are selected?
Qm FfE0s. grssHHL 16 o mililafser o erenen]. Seufseieo 5 Guj wLBOL LB
afgib HBD UL GHHuTHeT. @euTsenel 11 Cui OBTWIL @ Gpaled GHoBhaHSH 3 Lbd
alFgmenysenTeugd L 1D OUBIISBITR HBHDHHE| HTEHISD.

b. What is Frequency polygon and explain the construction of Frequency polygon using
histogram?
Ba0euew  LevCHTewD  eTalipTeL  6levtent?  BHIBDGeUeHT  LIeVECHTEWID  eUMIUID  (LpemBenU
BBD6eueNT OFaISSHMmSL LWaUBSHSH alend@EHs?
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